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B— B BIM ShE (1298)
AU F 2S5 —DES (44%)
[[ERv) K A OUT | IN |GROSS|HDCP| NET
1 Wt =EE# 41 41 82 13 69
2 NiE FE 39 39 78 8 70
3 ERAKKEH 41 39 80 9 71
4 B8 &T 40 39 79 4 72
5 i =17 39 41 80 8 72
10 2H B8R 38 37 75 1 74
15 HE BT 46 41 87 13 74
20 BR =— 45 39 84 8 76
25 g Foig 44 45 89 11 78
30 EIE—BR 40 38 78 +2 80
BG s0 Big 34 37 71
BikLF21S5—DB6 (40%)
[[ERv) K A OUT | IN |GROSS|HDCP| NET
1 xEH = 44 45 89 25 64
2 mA BE 43 39 82 15 67
3 E /s 416 43 89 22 67
4 =i BA%8 416 47 93 26 67
5 fUgf BI— 45 52 o7 27 70
10 RU #®B3 43 47 90 15 75
15 =8 3 54 46 100 22 78
20 BF RNk 53 54 107 26 81
25 3589 {BH— 47 52 99 15 84
30 B &t 54 53 107 21 86




BG AR &P 43 | 39 82

=—BEI% TR30F3848
OSVRIZTP « LT 1 —ADED (45%)
(LY K & OUT | IN |GROSS|HDCP| NET
1 Bl 1IES 42 46 88 24 64
2 O Z=RiE 44 46 90 26 64
3 B B— 45 42 87 22 65
4 Bl BE 38 38 76 10 66
5 Bl Ra 42 39 81 15 66
10 REB 1817 37 44 81 12 69
15 iR = 52 43 95 24 71
20 B IRRF 44 41 85 11 74
25 & BZ 51 49 100 25 75
30 RE B— 50 41 91 14 a4
BG SN B’ 38 38 76
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